=5 4Y/HIE o[0ix|

H
i

oY

THE!:

2 BX UF3 IYT = AE]L

s, FHAEl 0|5 EN AC-46200.

ARfAE of M, Z2tAE! PA 66 GF 35-X R 2| M%.

BIX| El, AEE LIAF 2 2b M, AE|QIEIA AE 1.4305.

EM OpR2]:

718 B4 U &3 ;= Ax 2| L HY AgF &2l
e, AYM ot &

AHAE QtM, XM,

BIX| &, ABE LA & of M, ZHE M,

.

Lt of H5E TH BEZ VEE £ AL Zols
= HAjol 3T A2 F0f SR LICH

=
“~l D2

w

R S 1 i

L ]

J | & |

| T X % |
| SW 14 er N

Q L\| 3 i

D D1

A=l
e
\1— m
2

© HEINRICH KIPP WERK GmbH & Co. KG

www.kipp.com - info@kipp.com 1/2



r— = ir = al ol
F3 2=, SUX| L HA 2 U=
== g9
$3 ST, SUR| L B i US
FEHS D D1 D2 H H1 H2 H3 L L1 L2 A B P R SwW AEEF F =g
S kN FH
N
K0013.106 M6 20 M6x0,5 56 60 53 10 9 9 8 704 215 8 30 17 1,2 4 120
K0013.108 M8 20 M6x0,5 56 60 53 10 9 9 8 704 215 8 30 17 1,2 4 120
K0013.110 M10 25 M8x0,75 72 79 67 12 12 13 10 96 33,3 10 40 19 1,5 8 350
K0013.112 M12 32 M8x0,75 88 96 82 15 18 18 12 96 333 12 50 27 1,5 8 350
© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



